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ASSESSMENT

[image: image2.jpg]Fig. E.1.3 Hubble Space Telescope photographs
of opposite hemispheres of Ceres (J. Parker, Personal
communication, 2000).




Below are two images of the same asteroid, taken at two different times by the Hubble Space Telescope. Based on what you have learned in this module, describe the characteristics of this asteroid that you can infer from these images.


1. Description of this asteroid: Include a description of its albedo and any possible surface characteristics. Also, include whatever conclusions you might reach about its three-dimensional shape.


2. Why do you think the two images look different?


3. How does this asteroid compare with what you learned about Vesta in this module?


4. What difficulties did you face in trying to describe this asteroid? Why did you have these difficulties?


Additional Facts

This asteroid: 

· has a volume that is six times larger than Vesta.

· is only 2.6 times more massive than Vesta.

· has a density that is less than half of that of Vesta.

· is smoother than our moon, based on radar observations.

· may be covered with a dry, clay-like material.

· may have a polar ice cap during its winter.

· has an absolute magnitude of 3.34 (Vesta’s absolute magnitude is 3.20).

Also:

· We do not know of any meteorites that have come from this asteroid.

5. Did we find this information by studying images or by other means? Describe how you think this information was obtained.

6. What questions do you have about the mystery asteroid that you would like to have answered? Why?


7. How might scientists find the answers to these questions?


History and Discovery of Asteroids
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